SCORE: /15 PTS

Using the definition of the derivative, prove the derivative of COS x .
NOTE: You may use the values of the two special limits proved in class without reproving them, if you state the values of those limits.
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MULTIPLE CHOICE. Circle the correct answer. Show work to prove your answer is correct. SCORE: /20 PTS

Which of the following curves is orthogonal to the curve y = In(sec x —tanx) ?

a) y=si$> [b] y=-—sinx [c] ¥ =cosx [d] y=-cosx [e] y =cosx+cotx
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BJ, who is 6 ft tall, is standing 18 ft away from a floodlight sitting on a stage. If the floodlight is being pulled SCORE: /25 PTS

upward at 2 ft per second, how quickly is the length of BJ's shadow changing when the floodlight is 15 ft above the stage ?
NOTE: Give the units of your final answer. State clearly whether BJ’s shadow is growing or shrinking,

O Lekt Al 2‘%/56@

- e “i Ee
" h \
,?.(,,pt i weerT dd )
= 5~ i ak [y -5t
(__,L G 15 ‘Ft
A gt
bft 3

Ide bLBAOEPE  —— helsPE 1S4 L= bLT HI08SET
o 0 pedd ALFE= )Og{z;{"
L, M- - bHSs .
gt - (5P 4= bFtdg

‘ELL - d?

%ﬁf - -£3 o7l spacows SHRINKING




-1
If f{x)=(cotx)*™ *,find ['(x). SCORE: /25 PTS
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B 2
Find the equation of the normal line to the curve cos™ (5x + y—)
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Let f(x)=

1

[a] If X changes from 1 to 1.25, find dy .
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[b] Approximate f(1.25).
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